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Why does Popcorn pop?

Directions: Please follow the Scientific Method procedures we learned to
work through today’s lab.

1. Question: Why does Popcorn pop?

2. Hypothesis: (1 believe... because)

Prediction:
-How long will it take to completely pop all the kernels?

-Whose will pop our popcorn faster Jiffy Pop or teacher’s popper?

3. Procedure: We will be racing to see which gender, boys or girls, or
teacher’s secret method, will pop their Popcorn the fastest. Students
will be placing the Jiffy Pop over a hot plate and teacher will be using
a different method. How long will it take to complete this process?
Use the classroom clock to time the popping.

4. Results: Please place your results in the data table below

Students BOYS | Student GIRLS TEACHER




. Analysis: While we are waiting and before we eat, answer the
following questions.

How is Conduction being demonstrated through this lab?

How is Convection being demonstrated through this lab?

How is Radiation being demonstrated through this lab?

What is the insulator in this lab?

What acts as the conductor in this lab?

What expands during this lab?

. Conclusion: Summarize this lab in 3 or more sentences.

. Further Questions: Draw and label a picture using the vocabulary
words in the questions to demonstrate what is occurring in this lab.
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THINKING ABOUT DENSITY?? AN ACTIVITY FOR FUN M. PARFITT

DENSITY is a physical property of matter, as each element and compound has a unique density
associated with it. Density is defined in a qualitative manner as the measure of the relative
"heaviness” of objects with a constant volume. As far back in time as can be imagined, people
have used density to help them identify the “fake” from the “real”. How does the density of
certain materials differ and how is density measured?

DENSITY = mass/volume

1. Find the mass of an object by using a triple beam balance or a scale.

2. Find the volume of the same object using a graduated cylinder and a method called
dlsplacement or by a measurement (cubic centimeters, feet, inches).

3. Divide

4. Your answer will be expressed using two units like: grams/milliliter or grams/em”3

WHAT DID YOU DISCOVER??? READ MORE BELOW

Densities of materials

%Imetal Ig/msllb/ns /fiR3

e
!mos

The 1b/gal column is used for comparison to a gallon of milk, which weights about 8.4 1b
(it's mostly water). If that milk were changed to aluminum, it would weigh about 22.5

Ib. If it were changed to gold, it would weigh about 161 1b (19 gallons of water)! Did
you notice that copper is heavier than iron? A cubic foot of iron is 491 Ib. A cubic foot
of copper is 559 Ib. Silver is even heavier than copper, at 655 1b for a cubic foot. Gold is.
really heavy at 1206 1b for a cubic foot. When you see a movie of thieves carrying bars
of gold, you know they are faking it! .




